
Class:Class 4 Subject: Maths Topic:Numbers

S.No Question Answer Options

1 What is the successor of : 
86410

86439

86409

86412

86411

86439

86409

86412

86411

2 18432 R 18439. Identify R.

Greater Than (>)

Less than (

Equal to (=)

None of the above

Greater Than (>)

Less than (

Equal to (=)

None of the above

3 Which is the correct 
ascending order ?

8734, 73854, 83745, 78345

73854, 83745, 78345, 8734

83745, 78345, 8734, 73854

8734, 73854, 78345, 83745

8734, 73854, 83745, 78345

73854, 83745, 78345, 8734

83745, 78345, 8734, 73854

8734, 73854, 78345, 83745
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4
Fill in the blanks : 548 
rounded off to nearest 
hundred is ____________ .

Answer
____________

Answer
____________

5

State whether this statement 
is true or false : Up to ten 
thousand, the International 
and the Indian system is 
same.

True

False

True

False
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Correct Answer is
1. Correct Ans option is 86411
2. Correct Ans option is Less than (
3. Correct Ans option is 8734, 73854, 78345, 83745
4. Correct Answer is 500
5. Correct Ans option is True
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